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LAW
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. In the appointment of a supreme court Judge, primary is given to opinion of :
(A) The chief justice of India

(B) Union Law Minister
(C) Chief Justice of India and other three Senior Judges of The supreme court
(D) The Prime - Minister
2. Article 21 of the constitution of India incorporates the right to “Doctor’s assistance” In

which of the following cases this was decidad ?
(A) Charles Sobhraj Vs Superintendent of Central Jail
(B) Hoskot Vs State of Maharastra

(C) Sunil Batra Vs Delhi Administration
(D) Parmanand Katara Vs Union of India.
3.  In which of the following cases the doctrine of “prospective overruling was applied “ ?

(A) Shankari Prasad Vs Union of India

(B) Sajjan Singh Vs State Rajasthan

(C) ILC. Golaknath Vs State of Punjab

(D) Keshvanande Bharati. Vs State of Kerala

4.  Match List-I and List-II and select the correct answer using the code given below the
lists.
List-1 List-11
(a) S.R. Bommai case i Art-21
(b) P.V. Narsimha Rao case (i) Art - 356
(c) A.D.M. Jabalpur case (iii) Art - 105
(d) Lily Thomas case (iv) Art-44
(@ B (o (@
(A) @ @) @3 (iv)
B) @ @) @) (@v)
© O Gv) () ()
(D) (@@ @) @ (1v)
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fafer
U9uT — 11

A :  TH IS # UeE (50) SR U9 T 1 UTE Uk ar (2) 3k 1wt wwE F IW
IS

1. o9 e & A st e § adeda S
(A) 9RA % F&I ATE T
(B) HeErehfdfy H3ft =0t T =l

(C) YRA & & AT 3R I=aqH —=AEmerd & 0 g =AmeEien st T

(D) GUMH bl TF hl |

2. YRA % GfAYM % Tgws 21 § ‘' SfaeX & oAl 1 sifueRr dfmfaad ©) i fafea 9 9
[EREERRCIREURECIE
(A) T WMUTS I GaRASe< 3TTh Agal Sial
(B) THhIE I HERIY T4
(C)  Grirersrsn oW foeit gemea

(D) UM< e SHAH HRd §H

3. freAifera ol & 9 forg are # ¢ wigereedt fafoia’ o fagra stomn o g 2
(A) TR JEIE 9H YR HH (B) TSI THg M TSHAM T
(C) STE.H. MAKATY oH US& T (D) HIEMH=< TRl S hiel T

4. G-I SR GE-11 1 GAfaa ifse qen et o = U T e i geea 9 98 W g |

gar- 1 gat-I1
(a) TE. 3N SwE foig () eg=se - 21
(b) . &t R fof (i) TI=] - 356
(@ T & . Joag o (iii) TS - 105
d) foeht amg fol (iv) SIT=% - 44
@ @® () (@
(A) (@) @) (@) (iv)
(B) (@) @) @) (iv)
Q @O (v) (D) (i)
(D) @) @) @ (Qv)
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5.  Part IV -A was added to the constitution of India by the :

(A) Twenty fifth Amendment Act (B) Forty Second Amendment Act
(C) Forty fourth Amendment Act (D) Fifty Second Amendment Act
6.  Advertisement in a “Commercial Speech “ was laid down in :

(A) Humdard Dawakhana Vs Union of India
B) Express Newspapers (P) Ltd Vs Union of India
Bennet Coleman and Co. Vs Union of India

Tata express Ltd Vs Mahanagar Telephone Nigam Ltd.

7.  The question of disqualification of the speaker of Lok Sabha on the ground of defection
is determined by :

(A) The Deputy speaker

(B) The chairman of Rajya Sabha
(C) A member elected by Lok Sabha
(D)

D) The President of India
8.  Assertion (A) : Article 21 expressly incorporates the concept of due process of Law.
Reason (R) : Due process of law is an attribute of liberty

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not correct explanation of (A)
(C) (A) is correct but (R) is false
(D) (A) is false but (R) is correct

9.  Who Propounded Jurisprudence as ‘Science of Positive Law’ ?
(A) John Austin (B) Ihering (C) Hans Kelsen (D) J.S. Mill

10. To which of the following concepts, the Hart - Fuller contraversy relates to:
(A) Reasonableness (B) Obligations
(C) Activism (D) Morality

11. To which of the following the ‘Fiction theory’ is associated with ?
(A) Abnormal persons (B) Supernatural persons
(C) Corporate personality (D) Dead persons

12.  Who of the following Jurists said that ‘Law is a command of the sovereign” ?
(A) Jermy Bentham (B) John Austin
(C) Hans Kelsen (D) Roscoe pound
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5. WA % GfauM | 9N IV -A I SEl TR g
(A) vefge gueA st = (B) SIS HeeH SAfuftad =
(C) Tenforer deed stfufm =@ (D) arear s sifufe =

6. Tomma e ‘oo R’ © I fvita gem e
(A) THIE A 9 9RA 99 |
(B) TeRIH & YT (W) foi s 9 wo A
(C) o ShIcTHT TUE . oH YR &8 |
(D) <1 99 fd. 99 weR et fm fa. |

7. %k U1 % Y % Sod-ocd o YN W 3edl o 991 & e foman s g1
(A) U & KA (B) TS HHI o GHM(J o =M
(C) <lehaY =R THaifad 98 o =/ (D) 9Rd o Ugafd o =</

8. WU (A) : TT=% R fafy &t Twae ufshan =t sTaumon i Afers Fifed T B
HRT (R) : fafa 1 Tvass wferan wad=ran 1 werm §
(A) (A) 3R (R) I T §1 3R (R), (A) T TE T §
(B) (A) 3R (R) I T& ¥ 1 =g (R), (A) T Tel TIEIHIT 7T T |
Q) (A) T & T (R) T T
(D) (A) e 1 (R) ¥&l |

9. Trvaaras fafu & wq o faftmme =1 gfqures feam foean ?
(A) ST A (B) s (C) F hexd (D) . . foa

10. TR-Fer foa &1 ey ffafaa saumomesi & 9 fead )
(A)  Ifergaan (B) WA (C) HHUHAl OTE (D) faekar

11. TR ol &1 geiy frafafed § @ feag &2
(A)  AGHM AfEA | (B) 3Tciifeher ATwA 9
(C) fwifya =afda @ (D) Hd AfwA |

12. Tafa 99y 1 U 9URY € ‘A 391 T FHiE o fe i -=g foeg fafien = et an?
(A) T dom (B) S MM (C) B9 Head (D) &h! URTS
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13.

14.

15.

16.

17.

Match the following :
List-1 List-11

(a) A juristic person is of two kinds, (i) Custom
Universities bonorum and
Universities personorum

(b)  The basis of right is an (i) Holland
interest and not will
(c) Obligatory force (iii) Prof. Tay

(d) Possession is the present control (iv) Thering
of a thing on one’s own behalf
and to exclusion of all others

Code :

(@ @) () @
(A) @) (@Gv) @ (i)
(B) @i (@) (v) (i)
Q) (v) (@) @) ()
(D) G) (@@ (@v) (i)

X’ s so called right to wear the hat consists of the liberty to wear the hat and another
liberty according to Hohfeld’s analysis is :

(A) Not to wear the hat (B) To insist y to wear the hat

(C) To wear or not to wear the hat (D) To remove the hat

Stimson doctrine is associated with :
(A) De facto Recognition (B) De Jwe Recognition
(C) Both A and B (D) Doctrine of Non Recognition

Which one of the following statements is correct :

(A) The UN charter makes for compulsory membership

(B) The UN charter grants to all states a right to membership
(C) The membership of it UN is qualified and limited

(D) The UN charter does not make any distinction between the original and subsequent
members

The International committee of Red Cross was founded by :
(A) Henry Dunant (B) Gustave Moyner
(C) Hugo Grotius (D) Hars Peter Gasser
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13.

14.

15.

16.

17.

frfafea =1 gafaa wifsg
get-1 11
(a) fafy =afs < R &1 B | () wfg
Iafdieed sHRT qen gfaded
THHARY
(b) AR 1 3MER Afrefa ¥, (i) @is
E=l]
(c) SMEAdERRl (i) TR 2
(d) hea 1 e T, FoRel oRg W (iv) wRfa
W O A 0 qen
3= fordt =1 aaqam = ==t

(@ M () @
A) () (v) () (i)
B) (i) () (iv) (i)
C) (v) (i) @) ()
D) ) @ (@v) (i)

iv)

A~ A~ o~

‘X % ¥ TeT T TUTHIUT SRR § &2 I Te= i T, T Fhes o faveru 3 STaR
freafafag § 9w 3= g affad &

(A) T2 TE T St Tl (B) Y I ¥ T & eI &3 T il Tl
(C) ¥ U&H AT UeH ol WAl (D) 2 1 SARA i L]

feore fagerid o deiy forad €

(A) oD : "/ (B) fafyd : #r=ra
(C) AT BTMI (D) STt 1 fageria
et foafed & 9 =9 o1 %o & 71

(A) TIF TP F FEL H AT TEw 1 IEEE 2

(B) T g % WX H wefl T Bl W S AR T A B
(C) TIH TP H HIwId e qen fea §

(D) EIH TY 1 AR ol GG=A| AT ST Ta&| o o= Wk el el |

TS 19 i AP GHfd i T fFds TR &1 TE 2
(A) T TR (B) TRH W (C) =g e (D) B9 deX W
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18.

19.

20.

21.

The Domestic Jurisdiction Clause is found in Art. of the UN charter

(A) Art. 2(3) (B) Art. 2(7) (C) Art. 2(4) (D) Art. 2(6)

The MONISTIC THEORY is associated by :
(A) OPPENHEIM (B) BROWNLIE (C) KELSON (D) BRIERLY

Match the following :

(a) HOYA DE LA TORRE (i) Art. 38 L.CJ.
(b) HAILE SELASSIE (i) ASYLUM
(c)  WAR TO END ALL WARS (ili) RECOGNITION

(d) Opinion of qualified publicists ~ (iv) LEAGUE OF NATIONS
Codes :
(@ @) (o (@)

(A) @) () Gv) @)
(B) @) (v) @) ()
(© Gv) (@) @ ()
(D) @v) (D) @) ()

Match List-I with List-II and indicate the correct answer using the codes given
below :

List-1 List-11
(a) Nighawan Vs Nighawan (i) Dessertion
(b) Ashok Hura Vs Rupa Hura (i) Cruelty
(c) Dastane Vs Dastane (iii) Restitution of conjugal Rights
(d) T. Sareetha Vs State of A.P (iv) Divorce by Mutualconsent
Codes
(@ @B (©© @
(A) () @) @ i)
B O @ @) @)
© @ @) @) @)
D) G) @) @)
—5809 8



18.

19.

20.

21.

G TP AR K e ui atfuenian = @us o wn R

(A) T=%T 2 (3)
(C) T=%T 2 (4)

TEhTCHOIS oh! SehTeTd TohE ohi B

(A) SAUTeH (B) S3Tatt

A

= fafea =1 faam sifse

ERICSIIC

Bl e &t

c) |l I3l =l wHE FH * fow ggy
d) YIrg SRS fafyersti st

3P

(@ b ( (@
()
()
(i)
()

(iv)
(i)
@)
(

i)

(B) STTWT 2 (7)
(D) 3TT=T 2 (6)

(C) heEd (D) forett

() oTE. ®. . 1 AT 38
(i) TRO-¥IH

(ili) AT

(iv) < SE "9

T T 1 qHA g 9 e i o R T 53 T wew @ s Sd gu 3fEd W

i

-1
IEUERICEICREUEE]
3TRMR U o &1 g4

c) TRAM S SR

(d) 2. Gl I 7Y < T

(@ (b)) () (@
(A) @) (
B @O (
© @ ()
(D) ()

ge-11
(i) —oEISH
(i) proT
(ili) I STTHERRT T Ao
(iv) STaH HeAdt 9 foare foese

9 P.T.O.



22. Hindu Daughter become a Coparcenary by :
(A) Hindu Marriage (Amendment ) Act - 1976

(B)  Hindu succession (Amendment ) Act - 2005
(©) Hindu Adoption and Maintenance Act 1956
(D) None of the above

23. In which of the following case, The Supreme court had made that All Marriages should
be made compulsory registration of Marriages :

(A) Ashok Hura Vs Rupa Hura. (B) John valla mattom Vs Union of India
(C) Sema Vs Ashwani Kumar (D) Shamim Ara Vs State of U.P

24. In Muslim Law “ Hizanat “ relate to :
(A) Mother’s custody of child (B) Brother custody of child

(C) Father’s custody of child (D) Sister’s custody of child

25. Match List-I and List-II with the help of code given below :

List-1 List-11
(a) Damil Latifi Vs union of India (i)  Triple talaq
(b) Shamim Ara Vs state of U.P. (i) Muslim divorced woman
Maintenance

(c) Mukker Rathod Vs state of Kerala (iii) Dower

(d) Husain Ara Vs zubaida Begum (iv) Oral gift
Codes :
(@ @) (o @@
(A) @ @ @v) (i)
B @O G @) ()
(© @ @) @) @
(D) @) (v) (@) ()

26. A Muslim Marriages with a non Kitabya the Marriage is :
(A) Sahih (B) Batil
(C) Fasid (D) None of the above
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22.

23.

24.

25.

26.

QIR EHIRCAICRIRIRIRITR-E P

(A) feg foemg (Henem) sAfufem 1976

(B) fog STfHR ( Hened) SAfufw=™ 2005
(C) T Tueh wd wRu-divor sAfufEm 1956
(D) T 9 %% Tl

=1 fafea fora ae # Soam =™ 3 #@1 § % g foart &1 sfqarda: dsied e
=feu |

(A) 3T U M €91 8 (B) S SI@HdH I YRd G
(C) I S TR FHR (D) YT 3T 59 IR YW T

Hfeem fafy 4 feama’ fha @ grmda T
(A) == T @ eAfdveror § (B) == o€ i ifRReror
(C) = fuar =t stfiiearor o (D) o= o1& hi SAfHLer |

A 1 3R = 11 1 gHfad sifse = fed 73 fewt dema 3
gei- 1 gt - 11
I TIdE S qRd HH () dH doTR

(
(b) T ST S I I T (i) T T TSI STRA T TG0
() e VIR I HA A (iif) &
(d) Y AN M ST oH (iv) HifEsh M
&< :
(@ @) (© @
(A) @) @@ @v) (i)
®) @O (@) @) (Gv)
Q) G () (@) ()
(D) Gi) (v) (i) ()

™ it i o HF-fhqemn & faamr s €1 98 faare
(A) fafemm= 7 (B) IFTl (C) YARMET (D) TA9 I FE &
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27.

28.

29.

30.

31.

Which of the following statement is correct ?

(A) An agreement made without consideration is voidable
(B) An agreement made without consideration is void
(C) A contract made without consideration is valid

(

D) A contract made without consideration is void

)
)
Find correct explanation from following Assertion and Reason from code :
Assertion (A) : Agreements by way of wager are void

Reason (R) : Performance of the bargain must depend upon the determination of
an uncertain event, in case of a wager

Code :

(A) Assertion and Reason are right

B) Assertion and Reason are wrong
Assertion is right, Reason is wrong

Assertion is wrong, Reason is right

In Khemchand v. Beram, (1888) 13 Bom. 150, in context, of public policy relating to a
contract, it was decided that

(A) Help given or promised to a dancing girl is tainted with immorality
(B) Help given or promised to a dancing girl is not tainted with immorality

(C) Help given or promised to a dancing girl does not constitute valid consideration
for a contract

(D) Help given or promised to a dancing girl is an offer for a contract

In estimating the loss or damage arising from a breach of contract

(A) The means which existed of remedying the inconvenience caused by
non-performance of the contract must be taken into account

(B) The means which existed of remedying the convenience caused by performance
of the contract must be taken into account

(C) The means which existed of remedying the inconvenience caused by
non-performance of the contract must not be taken into account

(D) The means which did not exist of remedying the inconvenience caused by non-
performance of the contract must be taken into account

The issue in paradine v. Jane , 82 ER 897, was
(A) Mistake (B) Fraud

(C) Frustration (D) Undue influence

J—5809 12



27.

28.

29.

30.

31.

o fafaa & @ &9 @1 a6 9@ § 2

(A) form wfawrer o foham T IR S RO § |
(B) o wfawer & foram T =R I T

(C) o ufawrar o =t ¢ wfaer fafemm= g1
(D) for wfawer & =t TE wfeer I 7

%2 ! weEd § 1= fafea sifemem T @ w92 =men g
ARk (A) :  TEIH R I BT |

qeh (R) : TIH % TS H, GRarst w1 e T AEd ged % STauRe W
SR BT =8 |

¢

(A) SANTRAT ToT qeh T T (B) AR T Tk TTod ©

(C) 3IfueReM TEl €, Teh ol © (D) IR Tord ¢, ek Tl |

Hfoer 9 Heifea sH-+ifa & ded ), W oM oH (1888) 13 Bom.150 o HHel § faam =
fot=r

(A) TRET ToF ST B A TE HRTHAT AT FEAT A HI AT STATTRAT 9 g g ¥
(B) ToREt T STeT <Rl ot TS WA A1 WERAAT hid I SAG1 STATaehdl | S T8l Bl ¢ |

(C) Todl T =TeT 1 1 TS WEET A1 TRl A 1 aral ferdt Hfear o faw fafy @
I TR Bl |

(D) Tl T STeT 1 Y TS W1 A1 SRl A h1 IeT WAl i T & |

iRt 71 o hRUT U= B AT ThEM T Tehe Hid 94 |

(A) Hfaer =1 e &l foht ST & hRUT I YA 1 STAR K ok foTw s qied 39
Y fIggHM o 38 W 37ed o= 31 =i |

(B) wfoaT 1 e fohT STH o SR0T 3cq= SAGfALT 1 ITAR LA o T ST WieHA 39§65
forcam™ o 39 R 37avy foum & =ifeu |

(C) wforer =1 are Rl T S o 0T Ic0=l STYfae ol STAR i o fan S |ieH 39
Y o™ o1 39 W faaR &1 & =feu |

(D) wforaT o1 are 8l fRT ST o ShR0T 3cq= ST o ITAR & FA o T Sl 91 39
T TogmM™ Tl o1 36 W 37ed fa=R a1 =18y |

e 999 SIF 82 ER 897 % A | HgaT o
(A) @ (B) e © Fe (D) erfad Hu
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32.

33.

34.

35.

36.

A minor is allowed to enforce a contract

(A) Which is of some benefit to him and under which he is required to bear no
obligation

(B) Which is of some benifit to him without any cost.

(C) Which is of some importance to him and under which he stands to gain some
material gain

(D) Which is of no benefit to him and under which he is required to bear obligation.

The reason for the lack of tort litigation in India is due to

(A) Lack of consciousness about one’s rights and the spirit of toleration

(B) The fact that court of litigation is beyond the means of an average person.
(C) Undue delay in the final disposal of the cases.
(D) All of the above

Who observed that the penal law of primitive communities was not the law of crime
but the law of wrongs or torts ?

(A) Austin (B) Black Stone
(C) Henery Maine (D) Rascoe Pound

“Ubi Jus ibi remedium’ means

(A) Every law provides for remedies

(B) There is no remedy without a wrong

(C) There is no wrong without a remedy

(D) There is always a remedy for every wrong

Match List-I with List-II and select the correct answer using the codes given below :
List-I (Principle) List-IT (Associated Case )

(@) Damnum sine Injuria (i) Ashby Vs White

(b)  Absolute liability (ii) Stanely Vs powel

(c) Injuria sine Damnum (iii) Ryland Vs fletcher

(d) Inevitable accident (iv) Gloucester grammer case

Codes
(@ (b (o (@

(A) @) @ @) (v)

B) @ @) (@v) ()

© @@ Gv) @ ()

(D) (@v) @) @) @
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32.

33.

34.

35.

36.

et ArenferT w1 Tt ST Sl @F] T &I STIAN o S § 2

(A) S 35k foIT o a9 R @ adn 9ok Siqria fordt smear o1 oga e 399 eTufard
T e

(B) i foT F® T fohu 3T foIw I8 A9 &

(C) il Uk foI F& Hew 1 B a1 fSah AT 39 F© dMfcaeh AT T Bl & |

(D) S 3Tk foTe anvyerit =&t &1 e foreh sfavia fondlt sTeran o1 e ST Sud sTaferd 2

RA H 3TIHE % THGH! i HH 1 BRI & |

(A) HEIIH 1 T TS W& o YRR 6 Tl TR i HHT
(B) I AL ! R AW SACH il U= ¥ K ¥

(C) TheHi & anf- fearor | 89 dareft v

(D) W6 a4t

e el for ' QU TS T Mive fafy sToxifuss fafy 921 off 98 @ sTahcd te@n Qi ot
fafe o'’ ?

(A) 3@ (B) =i =M (C) T (D) UTH! TS

el AT &, el ST=R ot & w1 31 ©:

(A) R fafy ST=R 1 3uery wA ® (B) T <Y R §, T YRR off 7§
(C) SEISUERTEE, FRIAWHTHE (D) WY * ford goem & ST=R T

Yo Yt e gt el 1 faer™ sitd g Hal 3T skl = Sifee | 38eh ford gfedi o 1= foar
T Hehdl AT STINT Y |

et - 1 (Raegr=T) gt - 11 ( Gaf=<ra arg)
(a) formm &l & =1fA () STER M =Eie
(b) o I (i) < AW e
() Tomafes et (ili) TS FAM FeTeR
(d) srufEE gHe (iv) O IR 91 91
qahd :

(@ B () @
(A) () @) @) (i)
B) (@) () (v) (i)
Q) () (Gv) @ (i)
(D) (v) G0 @) ()

J—5809 15 P.T.O.



37.

38.

39.

40.

41.

42.

The word ‘Tort’ has been derived and has its orgin in :
(A) French Language (B) LatinLanguage
(©) Romon Language (D) None of these

The propounder of Pigeon - hole theory is :
(A) Salmond (B) Winfield
(C) Clerk and Lindsell (D) Austin

Section 511 of Indian Penal code does not apply in case of :
(A) Attempt of riot (B) Attempt of murder

(C) Attempt of theft (D) Attempt of affray

For the application of section 149 of J.P.C :
A) Active participation of each of person is necessary

B

~—"

A person should be a member of unlawful assembly

(
(
(C) Both A and B are correct
(

)

) None of these

If a person who is a citizen of India commits any offence out of India
A) Cannot be prosecuted in India, as the act was not committed in India

B

~—

Can be prosecuted in the country , where the offence was committed

C) Can be prosecuted in India in any place in which he may be found

(
(
(
(

)

) Cannot be prosecuted neither in India, nor in the country, where the crime was
committed

Which one of the following is not a public servant ?

A) Liguidator

B) A civil Judge

C) Member of a panchayat assisting a court of Justice

D) Secretary of a co-operative society

J—5809 16



37. TYFH W o T § Ao SHHT ST R
(A) T A H (B) ifed wren
(C) A= oo (D) IRI® H ¥ FE Wt &

38. e @ fagr & faaee ¥

&

(A) WA= (B) fomfres (C) e TF feledd (D) e

39. YR TUe Gfedl wi ¥R 511 ford At H @] 6T g
(A) SIIAT T FAH (B) &I hl TIA

(C) =t T I (D) @M 1 Wt

40. YRdN TUS Hfgdl H &R 149 I AN FH & fod
(A) W ARG H TkT ISR ST ©
(B) = w1 fafy favg-smma %1 Tew B =nfed
(C) S Il A T B Wl @
(D) WG H F e ot 7

41. YRGB T IR 3 597 9Rd & R Ry fowar € @t
(A) 9Rd o sIfEifea =& foman < Tk Hife 3o wRA | wfed T&i g3 B
(B) 3| W H ATy foham S wehell §, STl S8+ TR fohan %1
(C) Rd B AR feran < ke &, Sel Hel off =18 =afs e
(D) 1 SRS T @ IR | T <1 Tehar €, SR TE 39 <9 H el o7y =fed gen ¥

42. T fafed § @ < e Jo T2 €2
(A) EHITH
(B) Tafaer =
(C) TEd 1 TEH S <A h1 7SR ©
(D) HRHRI HHIf sl E=itel
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43. ‘A is paramour of Z's wife. She gives a ring of gold which “A” knows to belong to her

husband Z.
(A) ‘A’ commits theft of ring (B) ‘A’ does not commit theft of ring
(C) Z's’” wife commit theft (D) ‘Z's’ wife does not commit theft

44. Match the following offence :

(a) Grave and sudden provocation (i)  Exception II to section 300
(b) Death caused in sudden fight (i) Exception V to section 300
(c) Death caused by consent (iii) Exception I to section 300
(d) Exceeding right private defence (iv) Exception IV to section 300
Codes :

(@ @) (© @
(A) @) () @) ()
(B) @) (D) @v) ()
(© @) @@ @ (@)
(D) Gv) @) (D) (i)

45. Two statements are given in this question. One is labelled Assertion (A) and the other
is labelled Reason (R) examine these statements and select the correct combination of
the codes.

Assertion (A) : Strikes are not banned even in the public utility services

Reason (R) : Strike is a recoginised weapon of workmen for asserting their

bargaining power and for tacking of their collective demands upon
an unwilling employer. It is to be used as a last resort when all other
avenues for settement of industrial disputes have failed.

Codes :

(A) (A) is correct but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) is wrong but (R) is correct
(D) Both (A) and (R) are wrong

18



43.

44.

45.

‘A’ ‘Z/ IS HIIAR B 1 T8 A’ B EM H T S Il § YA I | TR T 7 & ufa
Eakd

(A) ‘A’ F SR SR &1 T fRar ©

(B) ‘A’ { S Y A 1 TUY T fea ¥

(C) ‘z’ &t ufet 3 = =1 319y fopam 1

(D) ‘7’ <t Il A =R BT 790 e feRan ¥

T aodl 1 foem =1

gar- 1 gar - 11

TR IR ST=S YehIvH (i) R U Gied sl &1 300 1 AYAS 11
3T TSk § g Bl (i) YR U Gfedl sl € 300 1 YR V
(c) T ¥ g Hd Al (il) HRAT SUS Gfgdl sl €R 300 T IS
(d) IEoR Ui WM SMUPR F W (iv)  YRAE U Higdl sl ¥R 300 I 961G IV

(@ b)) () (@)
@) @) @)
@) @
@ O W
( (iii) (i)

T YT T FHUF € | T AURYT (A) 3ifhd T, 91 TH aeh (R) 3ifRd T 139 el @l wifed

3R HIeh TE FASHHR! I DIt |

AR (A) : ik SN T § ot BTl Widsiferd & ® |

e (R) : geae SR ATereial T ¥g o7 YeThR hl TU TRl =IRiifed i <&
o faae T €, 76l foF X WHISTR! HfSHTE Ug=meR qarehieht HiaT wfh <l

B3l M § | STel Giddioes <hlg |14 9H 8l §, a1 Sl oY |ieF §, 9l
fawhel T ¥, 79 gSdIel A1 ATl & STl A HE YA H oA =1 |

&
(A) (A) §& T (R) To@ | (B) (A) 3R (R) <M Tl T
(C) (A) T ¥, (R) T&l T (D) (A) 3R (R) I 7Terd ¥ |
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46.

47.

48.

Select the codes related to triple tests laid down by the supreme court in Bangalore
Water suppy Vs A. Rajjappa

Codes :
a) Profit motive or gainful objective.
b)  Systematic activity

(
(
(c) Organised by co-opration of employer and work men
(d) Huge capital investment

(

e) For the production and/or distribution of material goods and/or services with a
view to satisfy human wants.

(f) Government departments discharging sovereign functions entirely.
Select correct combination of codes :

(A) (a) and (b) and (d) (B) (b) and (c) and (e)

(C) (a) and (d) and (f) (D) (a) and (c) and (d)

Select correct codes combination from the following relating to instruments of collective
bargaining :

(a) Strike

(b) Closure

() Lock out

(d) Retrenchment

(e) Lay-off

Codes :

(A) @and(®)  (B) (Band(© (O (©@and(d) (D) (a)and (o)

Select correct codes combination from the following relating to “retrenchment “
(a) Failure, refusal or inability of employer to employ his workmen.

(b) Termination of service of workman

(c) Breakdown of machinery

(d) Other than punishment

(e) Other than voluntary retirement

(f)  Other than grounds of continued ill health

(g) Rule : Last come, first-go

Codes :
(A)  (a)-(b)-(c)-(d)-(e) (B)  (b)-(d)-(e)-(F)-(8)
Q) (9)-(d)-(e)-(H)-(8) (D) (b)-(c)-(d)-(e)-(f)
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46. TR A TG IH T, TS & I1C H Hared SIerd g = foagd 9ikeq (feud o) 9
Hafd F& i€ FASH 1 oI hited |

(a) THM Tg 3R fHeny 3w
b)

e) T STavThdeiicl Hgfa (TRGMA) & & fad difass Arer 3iR Jansiist scare &R
foraeor =g

(f) Fed: G I haed faie HE e ThR faam

NN

FIgh Hal FASTHHRT I SIS |
A) (a) ¥R (b) 3R (d) (B) (b) &R (c) AR (e)
Q) (a) AR (d) 3R (f) (D) (a) 3R (c) R (d)

o o e

47. T fafaa #re daeHH @ amfesd dearst & ITRTIH HEl hie HAISHH 9= Hifsd |

(A) (a) 3R (b) (B) (b) ¥R (c) (C) (c) ¥R (d) (D) (a) 3R (c)

fa fa

= fafea e 9aoHE 9 Sl Tt Tl g GATSHR =T hifs |

48.

f

(a) ToSTeh ot 31O SHHRH! TSTTRH Y faoherdl 3<hrR o1 STaHed |
(b) SRR Qi HHIY

(c) FAYMTeTeR 39 Bl ST

(d) <=H fum

) e dar fafad fim

(f) TR fourir AN fa=

(g) . wod sifqw staTen To@ Tget e |

&
(A) () (b) (©) (d) ¥R (e) (B) (b) (d) (¢) (f) 3 (g)
© (© (@) (e) () ¥R (g) (D) (b) (©) (d) (e) 3 (f)
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49. The application from registration of a trade union must-be subscribed by minimum :
(A) Two (B) Five
(C) Seven (D) Eleven : Members

50. Subject to rules of the trade union to the contrary a person to be member of a trade
union must attain the age of minimum :

(A) Eighteen years (B) Fourteen years
(C) Twenty one years (D) Fifteen years
-00o0-
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49. 3TASH Y3 hl KHH HH FiHE G K SR T

A) @ (B) T
(C) ¥ (D) TINE : §e& g Af9ed Bl =fedl

50. ofhe dueh faudia fame sneis dsiihd gfies 9 & 959 o7 & fou =afe i oy w8d

H :
(A) 3T3RE T4 (B) g ad
(C) ™ o (D) Tgg : Tieteh! B =fed |

-00o0-
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Space For Rough Work



